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Let X, denote the quality of the nth item produced by a production system
with X,, =0 meaning “good™ and X, = | meaning “defective.” Suppose that
X, evolves as a Markov chain whose transition probability matrix is
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4.2.4 Section 4.2.2 determined the availability R of a certain computer system to be
1

R = fi ir facility,
=5 = or one repair facility.
I+p . -
= ————— for two repair facilities,
T 1 pap? P

where p is the computer failure probability on a single day. Compute and com-
pare R, and R; for p=0.01,0.02,0.05, and 0.10.

p }

. R = Ry= ' !

P (i lure) i 1+p+F {
ool 0, A4 JERERE

0102 ©, 26 0, 4assl

o5 o, a4 F5 0., AaFE 1

0,04 o, A\
2\ : : 5

-~ . o ]
:/_.‘-D The C\»ﬂl(i‘:v\'““ MNCreRSe in ‘L;'_.'O ‘“ﬁ“' fac has

N/ WAL 1T 1N With



f‘M
{ Gu%&;?'g))

s P s

417 Consider a machme whose conditaom af amy time can be vbserved and clasudied
as heing ia one of the following three staes:
State 1: Good operating order
Suaate 2: Devenoraned operating order
Staze 3. In repasr
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§.1.1 Defects occur along the length of a filament at a rate of A = 2 per foot.
(n) Calculate the probability that there are no defects in the first foot of the

filament,
(b) Calculate the conditional probability that there arc no defects in the second )
foot of the filament, given that the first foot contained a single defect. o “ ‘\ £
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